60-s bins
10
5 -
o LuhHNmbbbhnNbnsbHmn
100:00.000__ 000:00.000 " 10:00.000
2023_01_15117- 207 3.01-15T% 2023_01_16T0
Time (utc)
60-s bins
10
5 -
o LuMHMMbbbhnthamubmn
100:00:000 0 50:00.000 1 40:00.000
2023_01_15117- 207 3.01-15T% 2023_01_16T0
Time (utc)
60-s bins

10

5 -

o LuiHMmbbbhnthamubmn

100:00000 _050:00000 _100:00.000
2023_01_15117- 202 3.01-15T% 2023_01_16T0

Time (utc)

Latitude

Latitude

Latitude

80802504002 FPMA: No SAA Filter 52.24-ks, 100%

0 50 100 150 200 250 300 350
Longitude

--saacalc=1 -saamode=0PTIMIZED --tentacle=no 51.68-ks, 99%

0 50 100 150 200 250 300 350
Longitude

--saacalc=1 -saamode=0PTIMIZED --tentacle=yes 51.68-ks, 99%

200
Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins

Time (utc)

5.0
10 -
° 2.5
E
= 0.0
=
5 - 8
-2.5
o LUMHMMblnbAnAYamaban | 50
,00:00.000 4:00:00.00° 0:00:00.000
_023-01.15T17- 0230V 5T gt 3.01-16T0
Time (utc)
60-s bins
10 -
[
©
2
£
5 - 8
o L MMM MM mah o i bmp
. 0‘.00~000 . 0‘.00-000 0 00.000
023013570 301157 ° 50230136700 °
Time (utc)
60-s bins
5.0
10 - ° 2.5
E
= 0.0
5 4 8
-2.5
o LMMHMMbinhnnbnamban | 50
300‘.00~000 3100:00-000 0100:00.000
023011572 530150 73012670

80802504002 FPMA: No SAA Filter

52.24-ks, 100%

T
50 100 150 200 250 300 350
Longitude
--saacalc=1 -saamode=STRICT --tentacle=no 49.16-ks, 94%
. . .-.‘ -
- " 1'-.
1, . .
Y m b
o, T,
'._ "‘-._
- o,
1. 1,
e = =
T T
300 350

Longitude

--saacalc=1 -saamode=STRICT --tentacle=yes

49.16-ks, 94%

200
Longitude

250

300

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
10 -
Q
el
2
)
5 - i
o L b Mm bbbt et
.00.000 .00.000 000
023-01'15ﬂ2100;§23-01-15“ 005&3-01 16700:00:00
Time (utc)
60-s bins
10 -
Q
el
2
)
5 - i
o L MMM MMM o ey
100.000 100,000 00
023-01:157% 0.0020_01_ - 3-005(:’2'2_01 16700:00:000
Time (utc)
60-s bins
10 -
Q
el
2
)
5 - i
o L MMM MMM o et
100.000 100,000 0,000
023-01'15T12100;c?iz.ol-lgls100;);)2.(3)-01-16100100>°°'0

Time (utc)

u
o

N
w

o
o

-2.5

5.0

N
w

o
o

|
N
w

|
w
o

80802504002 FPMA: No SAA Filter

52.24-ks, 100%

50 100 150 200 250 300 350
Longitude
--saacalc=2 -saamode=0PTIMIZED --tentacle=no 51.76-ks, 99%
. s, . l--'-.hl--'-.‘_ *
1 L ."'l_ .l-_ 1--"
- Th l""-\. ",
, L N
N "- "
‘.l 1I 1"'__
ey . e b
L '|,__
': e
T T
50 100 150 200 250 300 350
Longitude
--saacalc=2 -saamode=0PTIMIZED --tentacle=yes 51.76-ks, 99%

1, 3 =,

- Ta, l‘..'-\. ."'-.
, L N

N "- "

‘.l 1I 1"'__
- a T,

L " "|,__
. '_: e

T T
50 100 150 200 250 300 350

Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
10 H
Q
el
2
P
5 - i
o L b Mm bbbt et
100,000 100.000 100,000
023-01'1“12100;(?22-01- E’“Bioofc?ig-ox-mmoioo>°°'0
Time (utc)
60-s bins
10 H
Q
el
2
P
5 - i
o L MMM MMM inbefinin bt iy
100,000 100.000 00
230115732 0.0022_01_151 3-005(:’2';’_01 16700:00:000
Time (utc)
60-s bins
10 H
Q
el
2
P
5 - i
o L MMM MMMt finin bt iy
100,000 100.000 100,000
023-01'15T12100;c?iz.ol-lgls100;);)2.(3)-01-16100100>°°'0

Time (utc)

-2.5

Noo
u o

o
o

5.0

| |
A B
o » o u

52.24-ks, 100%

80802504002 FPMA: No SAA Filter

0 50 100 150 200 250 300 350
Longitude
--saacalc=2 -saamode=STRICT --tentacle=no 47.04-ks, 90%
o .-1"': ._:.- .
. .
. ",
. .
1- =
N =,
-l
T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=2 -saamode=STRICT --tentacle=yes 47.04-ks, 90%
- -
. ",
. .
1- =
e =,
-l
T T
0 50 100 150 200 250 300 350
Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
10 -
Q
el
2
)
5 - i
o L b Mm bbbt et
.00.000 .00.000 000
023-01'15ﬂ2100;§23-01-15“ 005&3-01 16700:00:00
Time (utc)
60-s bins
10 -
Q
el
2
)
5 - i
o L MMM MMM nb b iy
100.000 100,000 00
023-01:157% 0.0020_01_ - 3-005(:’2'2_01 16700:00:000
Time (utc)
60-s bins
10 -
Q
el
2
)
5 - i
o L MMM o et
100.000 100,000 0,000
023-01'15T12100;c?iz.ol-lgls100;);)2.(3)-01-16100100>°°'0

Time (utc)

u
o

N
w

o
o

-2.5

5.0

N
w

o
o

|
N
w

|
w
o

80802504002 FPMA: No SAA Filter

52.24-ks, 100%

50 100 150 200 250 300 350
Longitude
--saacalc=3 -saamode=0PTIMIZED --tentacle=no 51.80-ks, 99%
. s, . l--'-.hl--'-.‘_ *
1 L ."'l_ .l-_ 1--"
- Th l""-\. ",
, L N
N "- "
‘.l 1I 1"'__
ey . e b
L '|,__
': e
T T
50 100 150 200 250 300 350
Longitude
--saacalc=3 -saamode=0PTIMIZED --tentacle=yes 51.80-ks, 99%

1, 3 =,

- Ta, l‘..'-\. ."'-.
, L N

N "- "

‘.l 1I 1"'__
- a ,

L " "|,__
. '_: e

T T
50 100 150 200 250 300 350

Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
10 H
Q
el
2
P
5 - i
o L b Mm bbbt et
100,000 100.000 100,000
023-01'1“12100;(?22-01- E’“Bioofc?ig-ox-mmoioo>°°'0
Time (utc)
60-s bins
10 H
Q
el
2
P
5 - i
o L MMM MMM inbefinin bt iy
100,000 100.000 00
230115732 0.0022_01_151 3-005(:’2';’_01 16700:00:000
Time (utc)
60-s bins
10 H
Q
el
2
P
5 - i
o L MMM MMMt finin bt iy
100,000 100.000 100,000
023-01'15T12100;c?iz.ol-lgls100;);)2.(3)-01-16100100>°°'0

Time (utc)

-2.5

Noo
u o

o
o

5.0

| |
A B
o » o u

52.24-ks, 100%

80802504002 FPMA: No SAA Filter

0 50 100 150 200 250 300 350
Longitude
--saacalc=3 -saamode=STRICT --tentacle=no 47.04-ks, 90%
o .-1"': ._:.- .
. .
. ",
. .
1- =
N =,
-l
T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=3 -saamode=STRICT --tentacle=yes 47.04-ks, 90%
- -
. ",
. .
1- =
e =,
-l
T T
0 50 100 150 200 250 300 350
Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



